Roll Number SET A

INDIAN SCHOOL MUSCAT
SECOND PRELIMINARY EXAMINATION MARKING
SCHEME
SUBJECT : COMPUTER SCIENCE

CLASS: XIi Sub.Code: 083 Time Allotted: 3 Hrs.
13.02.2019 Max.Ms: 70
1.a | Correct difference - 1 mark each 2
b) |lostream.h iomanip.h (%2 mark each) 1
c) | Four corrections (%2 mark each) 2
d) | 36504042 (3% mark each) 3
e) | Original String :SUCCESS 2

Changed String: S@C!ES!

( ¥2 marks each )
f) | None of the given options- 1 mark justification - Tmark 2
2 a) | Difference - 1 mark , example - 1 mark 2
b) | i) constructor, when the object is declared - 1 mark 2

ii) planet p; p.display(“venus”,143000KM”) - 1 mark
C Class definition carries ¥ mark 4

setGrade() carries 1 mark

Getdata() carries ¥2 mark and call of setGrade() carries %2 mark

dispResults() carries ¥2 mark
d (1 M for correct syntax for derived class headers) 4

(1 M for correct declaration of data members)

(2 M for defining the functions )

OR

i) D.College::displaydata(); 1 M for the correct answer

ii) regno, principal, no_of_students, vc 1 M for the correct answer

iii) fetchdata(),displaydata( ),readdata(), displaydata(),no_of_students1 M for the

correct answer

iv) College = 20+20+2+20+2 = 64 Department = 20+20+2+20+2+20+20 =104 bytes

%2 M each for the correct answer
3a | (¥2 M for correct loops) 2

(1 M for correct logic)

Page 1 of 3




( ¥2 M for displaying )

( ¥2 M for correct function header)
(1 M for correct loops)

1 M for logic )

Y2 M for display )

c)

1 M for correct formula & step calculations)

d)

2 M for creation & correct declaration)
2 M for correct steps inserting)

(
(
(
(1 M for final correct address)
(
(
i

i) 5800 ( 1 m for correct answer and 1 m for showing the stack status)

OR
ACDE+"F*G/+ ( 1 m for correct answer and 1 m for showing the stack status)

4 a

Y2 M for opening files correctly)
%2 M for reading each Word from the file)
Y2 M for checking)

Y2 M for opening file correctly)

1 M for reading each record )

1 M for searching for the record )
(Y2 M for displaying )

(
2
(Y2 M for display)
(V2
(
(

%2 m each for definition & correct stream
f.seekg(0,ios::end); (Y2m)
Bytes=f.tellg(); (Y2m)
OR
f.seekg(10*sizeof (employee),ios::beg); (1m)

5 a.

Difference - 2 mark

Select book_name, author_name , price from books where publisher="First Publ’;
Select book_name, price from books Order by Price;

Update books set price=price+50 where publishers="EPB’;

Insert into issued Values (‘F0003’,1);

AN

i 5
ii. 750
iii. Fast Cook Lata Kappor
My First c++ Brain & Brooke

iv. 2

4+2

6 a.

Statement: 1 mark , Proof : 1 mark

Correct diagram : 2 marks
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c. | SOP - 1 mark 1
d. | K-Map drawing - 1 mark, Correct grouping - 1 mark , Reduced expression - 1 mark 3
7.a. | (i) Operating someones Internet banking account,without his knowledge - 2 marks 2
b. | Any one advantage - 1mark 1
c. | Hacker, cracker difference - 1 mark 1
d. | (i) GSM - Global System for Mobile (1 mark) (ii) WLL - Wireless in Local Loop (1 2
mark)
e. 4

i) Both star and bus layout drawings - 1 mark
ii) Science block - 2 mark justification 2 mark
iii) switch - 1 mark

iv) satellite connection - 1 mark

End

Page 3 of 3




